H & 0l & AHS B Ml A
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M NSAEISX X
el XFAE =X ST (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 76,472,756 76,415,889 56,867
= 44,123,127
[ 3,358,412
Jl 80,248
< 8,454,632
= 20,456,337
NS A2l =X K& 1,273,373 1,261,804 11,569
= 206,632
s 357,967
== 109,808
o 598,966
KSARI S XS 1,273,373 1,261,804 11,569
= 206,632
[ 367,967
== 109,808
= 598,966
KSARSA SR =& 19,460 23,063 23,603
201 er23| 17,660 19,29 A1,635
01 At2teltl 14,160 15,145 A985
OXNSAI =X g 2Y 9,210
—MUADE S MNRES
137,500« 128 1,650
—SAD| 2RI 330,000& * 122 3,960
—a4tl 9,000 «8E x50 3,600
OXNSAtSA S22 &2t
9,9003 %5002 13 4,950
02 S3=gHl 3,500 4,150 AB50
OSXUEA HASKIN S SEEER 851
— ot 4302 #5521+ 128 284
—S 2,620 102 * 122 315
—gts 2,1003 %102+ 122 252
Oe-1el28 AEE 2,439
—aut 52023002 * 122 1,872
—S 2,620& 102 * 122 315
—gts 2,1003 %102+ 122 252
OAEXY 72|l 35,0002 62 210
202 04| 1,800 2,268 N4E8
01 2LHA b 1,800 2,268 A468
OXIFAE =X €F =& 04
10,0002 68 3~ 123 1,800
ANZERHE X2 (HEAY) 157,718 176,698 18,980
301 EtE NS 157,718 176,698 18,980
10 AR =22 157,718 176,698 /18,980
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33 X9AMeI=A X
el XFAE =X ST (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
OelAt| 900,000 x 12« 122 129,600
Oul=H| 309,840 x7H*13] 2,169
OulEH| 2,600 x 12+ 172 x 122 6,365
OSAH| 8,000 x 12 * 172 x 122 19,584
KA MEIASE XA 324,050 325,841 A1,791
s 259,240
== 32,405
s 32,405
201 fer=3| 1,000 1,000 0
= 800
= 100
o 100
01 Al 22| 1,000 1,000 0
OXIHAE HEIASTIAY 2t
200,0002 %52 1,000
[ 800
= 100
o 100
301 EtE NS 323,050 324,841 A1,791
[ 258,440
= 32,305
o 32,306
01 Al EE AT S (2 RDEXA) 323,050 324,841 A1,791
OXI A2 MHIA S XFAFY
125,2132 %2158+ 122 323,050
[ 258,440
= 32,305
o 32,306
AN EE 2RI AL 57,466 66,530 9,064
[ 45,972
= 5,747
[Ea 5,747
301 EtE N = 57,466 66,530 A9,064
[ 45,972
= 5,747
= 5,747
01 A2 HSFS(RNEERTHE) 57,466 66,530 9,064
OIS EXE AL
281,696 x17&+12&8 57,466
= 45,972
S 5,747
= 5,747
2SS X2 A 6,281 0 6,281
= 5,025
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M NSAEISX X
el XFAE =X ST (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 628
s 628
301 EtE NS 6,281 0 6.281
= 5,025
== 628
[Ea 628
01 AR 2EHSHS(RNEXRTH) 6.281 0 6.281
(OFAl=t—1=INL--YN3=
104,683 x5 * 122 6,281
= 5,025
== 628
o 628
F==PNDNL=| 245,790 288,800 243,010
= 196,632
== 24,579
o 24,579
301 22N = 245,790 288,800 A43,010
= 196,632
S 24,579
o 24,579
01 Al EE A S (FRNEXA) 245,790 288,800 A43,010
OAS=X XL ALY
1,638,6002 x150 245,790
= 196,632
= 24,579
Ea 24,579
d=E 2Aa8=X NEAY 3,000 0 3,000
< 1,500
[Ea 1,500
301 2eEN= 3,000 0 3,000
& 1,500
= 1,500
03 ALl 2 EH 263 (X E) 3,000 0 3,000
Od=E 2a=X N2 A
750,000 +4H 3,000
= 1,500
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Yo 25 300 1,900 1,600
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o 1,060
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2A:

Ar2l = X 2t

Hy: 20 P& X9
el =ot2EE 2el € N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZgdEEIa AY X
6,339,500 <22 12,679
ONGNER=2| At X
1,955,000 *23] 3,910
03 LM EE2SHIEX 100,079 100,888 A809
O=EEHH A& el2dl X 32,964
—JlZ2= 2,096,270« 18~ 12& 25,156
—N=& 2,096, 2703 «60%*23] 2,516
—EXNE=s 25,155,240 %1/12 2,097
—=28= 25,155,240 12. 7% 3,19
Oodolz2ds 2¢ N2
2,077,500 22 4,185
OdezZd"ss 28 Nd
2,314,000& *23] 4,628
Od=szdilgels 29 XA
2,630,000& *22] 5,260
ORs=gitzl 29 X&
2,700,000& 22 5,400
O6.258 8 =Stz 28 A& 25,872
—QIAH| 18,817
Jl2=(12/5A124)
1,313,930 x1&» 122 15,768
HEREE 15,767,160 x 12 x1/12 1,314
282 15,767,160 * 12 *11% 1,735
—24gHl 3,527,500 22 7,055
OCEgddEdlts 28 &
5,300,000& 22 10,600
OLgNERe 29 X&H
5,600,000& 22 11,200
IIEEUYN BEesE 1,062,120 1,029,480 32,640
= 237,120
o 825,000
301 EetE NS 1,062,120 1,029,480 32,640
== 237,120
o 825,000
03 A 2E A4S (XL THH) 1,062,120 1,029,480 32,640
O=JI2E2lakt 22+E 1,047,120
— SRS 130,000 x238& * 12 371,280
= 114,240
= 257,040
=1 2 Bk
110,000& #512F « 122 675,840
s 122,880
s 552,960




SA SIS
Hy: 20 P& X9
&2l 2IIEE 2el € X3 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZNFEHAX ALRAZS
300,000 +50H 15,000
SEAE 2| 2,292 2,840 A58
101 @1A4H| 2,292 2,840 A58
04 JIZtNZ22 XS 2+ 2,292 2,840 Ab48
@)tiFal:] 2,292
—&dH 80,2402 x8H *23] 1,284
—otyd e 80,2403 x3EH *42] 963
—28= 2,246, 7203 2% 45
PIES -k, 7,327,957 7,646,487 A318,530
= 5,714,802
= 692,191
o 920,964
SXHA SSEA 3,657 5,313 A1,656
SEXAL H2 = 3,657 5,313 A1,656
201 fer=3| 2,457 2,913 AN4%6
01 AtR2tc|Hl 2,160 2,616 A456
OSE XA &R 29 2,160
—HUAEE L ARES
30,0002~ 12 360
—=4| 9,000 x4 & 50 1,800
02 S3=gHl 297 297 0
oY M 92
24,7503~ 128 297
202 04| 1,200 2,400 1,200
01 =LH LI 1,200 2,400 A1,200
OSSXAL 2 =& 04|
5,0002 x4 +5&~ 122 1,200
ZTHESH 5,782,051 5,984,602 A202,551
= 4,593,206
& 588,640
= 600,205
&A= 5,702,293 5,879,461 A177,168
= 4,561,835
< 570,229
[Ea 570,229
301 2eEN= 5,702,293 5,879,461 A177,168
= 4,561,835
=S 570,229
s 570,229
01 Al EE AL S(FREXH) 5,702,293 5,879,461 A177,168
OdA=0 548,719.43 866 )t 71+ 12 5,702,293
= 4,561,835
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NS>
b b
0x 0z JiT
e e >
o &

2 04

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

570,229
570,229

HoH W

39,213
31,371
3,921
3,921

31,587

7,626

HH W

39,213
31,371
3,921
3,921

31,587

7,626

784,260 50H

HoH W

39,213
39,213
31,371
3,921
3,921

31,587

7,626

11,565

10,603

962

11,565

10,603

962

14,5283 x199F «43]

11,565
11,565
11,565

10,603

962

EUNGE

28,980
14,490
14,490

7,380

M

28,980
14,490
14,490

21,600

7,380

345,000 *7Jt 2+ 128

A H

28,980

28,980
14,490
14,490

21,600

7,380

X2

Mo W

1,148,987
919,190
83,653
146,144

1,280,892

131,905

HH W

1,041,607
833,285
83,329
124,993

1,140,399

A9, 792

HoH W

2,500
2,000
200
300

2,500
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M J|zMEEH
2l R (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,500 2,500 0
ONE2ZANY NSEE 72
250,000 43 1,000
= 800
< 80
= 120
ONE2ZAY 2
500,000& 304 H 1,500
= 1,200
S 120
= 180
301 EtE N = 40,023 40,023 0
= 32,018
= 3,202
s 4,803
14 JIEt2d=3 40,023 40,023 0
OX22 A (22RXE) 2]
750,000 «4H*12& 36,000
= 28,800
< 2,880
= 4,320
OXgI2AY M. IE28=
31,670,000& *12.7% 4,023
= 3,218
S 322
= 483
307 el2tol & 999,084 1,007,876 A8, 792
= 799,267
< 79,927
s 119,890
05 2ItRIE = 999,084 1,097,876 NGB, 792
OXHE2 2 AL (up—graded ) 21 24|
1,067,397 3 x78H* 123 999,084
= 799,267
< 79,927
= 119,890
AE3X 8= Ns2elArd 4,050 0 4,050
= 3,240
[ 324
T 486
301 EtE NS 4,050 0 4,050
= 3,240
== 324
[ 486




FA ARSI
B ) EMBEE
2l R (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 4,050 0 4,050
OXtgdEsXNE=2 675,000 x6% 4,050
= 3,240
< 324
o 486
SIY M EAHZH 9,987 11,946 A1,959
= 7,990
o 1,997
301 EtE N = 9,987 11,946 A1,959
= 7,990
[Ea 1,997
01 Al EE A S (2 RNEXMA) 9,987 11,946 1,959
OsIYMEZA £ 166,4503 x5+ 123 9,987
= 7,990
s 1,997
SIYM=HZ 15,336 8,108 7,228
= 12,269
= 3,067
301 LEtE NS 15,336 8,108 7,228
= 12,269
o 3,067
01 Al EE A S (2 DEXR) 15,336 8,108 7,228
O ZM=AZ I
60,8572 x21H* 122 15,336
= 12,269
s 3,067
HEUHL =A%t 78,007 103,636 N25,629
= 62,406
s 15,601
301 EtE NS 78,007 103,636 N25,629
= 62,406
= 15,601
01 Al EE AT Z(2DEXR) 78,007 103,636 N25,629
OFEHL M=H 2
130,011 +50H 123 78,007
= 62,406
s 15,601
KNS TEHE 29 393,262 375,680 17,582
= 202,406
= 19,898
o 170,958
NSA2HEH 29 273,280 262,284 10,996
= 191,296
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M J|=zME2d
=@l NSA2HE 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 81,984
307 gl2tol & 273,280 262,284 10,99
= 191,296
s 81,984
10 Al SXA2EE 22X 273,280 0 273,280
OXS A 2lE 28 272,680
—SAHL Q12| 222,773
JlEs 3,050,000 x5 *12& 183,000
= 128,100
[Ea 54,900
Ni==g 15,2803 +52+ 128 6,917
= 4,842
o 2,075
- 282 123,590,550 *12. 7% 15,696
= 10,987
= 4,709
HEREE 286,000 x5 123 17,160
= 11,970
o 5,190
—=3H4| 4,158,916~ 128 49,907
= 34,977
[Ea 14,930
ourgl 300,000 22 600
- 420
o 180
NS AHEHE wsHl XA 3,000 3,000 0
=S 630
s 2,370
307 21201 & 3,000 3,000 0
< 630
[Ea 2,370
11 AMEISXAEEES 3,000 3,000 0
OX<STtEHE wsHl X
3,000,000 *17H 2~ 3,000
= 630
= 2,370
XLty X2 (=41) 16,871 0 16,871
= 11,110
s 4,761
307 @12t01 & 15,871 0 15,871
= 11,110
[Ea 4,761
11 AMRISXAEEES 15,871 0 15,871
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M | ZMEEE
&l NI 29 (St &)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OXELXIelAl AL Atell2tel el2ib| 15,871
=Jl23 2,166,0002 *1Z 62 12,99
= 9,097
i 3,89
-2 10,300, 0002 *12. 7% 1,309
= 915
i 3%
—EANEZ 261,000& 15«63 1,566
= 1,098
i 468
AL T2 lArY XI&A(SHl) 17,871 31,476 A13,605
= 5,361
= 12,510
307 gI2tol ™ 17,871 31,476 A 13,605
= 5,361
= 12,510
1 ASI=SXAIEEE 17,871 31,476 213,605
ORIl AL Atell2tel el2it| 17,871
=JlEgs 2,194, 0502« 1H 62 13,165
& 3,949
i 9,216
—2&8s 20,400,000 *12. 7% 2,591
& w7
= 1,814
—E&ANEZ 352,500 x 15«63 2,115
= 635
= 1,480
JIRASHSAHS 69,200 69,200 0
& 9,69
i 59,505
307 gI2Hol ™ 69,200 69,200 0
= 9,695
= 59,505
11 Al =XAMEES 69,200 69,200 0
OZCSOR! 2 ¥3 2K
5,766,600& 123 69,200
= 9,69
= 59,505
KNS TEHE SAHL SE+Y 14,040 9,720 4,320
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T 9,828
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OZHeI=X HF F& o4l
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o 37,691
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oIl & A} 16,000 0 16,000
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OFonelel & A 16,000
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12,000, 0002 *13] 12,000
—Zol ¥ TR m
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=S 32,000
s 128,000
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< 30,000
T 150,000
O SE=SAN2AE 28 30,453
—2gH| 871,080 x 12 10,453
— At 1,666,6602 «12& 20,000
oS OISXIJHE 29 158,580 163,000 A4,420
< 31,716
s 126,864
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= 31,716
= 126,864
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T 85,830
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s 2,173
s 8,696
HERSEE 189,868,000& /12& 15,823
& 3,165
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& 81,393
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—QIAH| 363,406
lEs 3,538,260 «6F « 122 254,755
== 50,951
o 203,804
Hl==& 751,662 x6H « 12 54,120
= 10,824
= 43,296
=== 255,955,0002 *12. 7% 32,507
= 6,501
o 26,006
SRR 305,880 x6H «12& 22,024
& 4,405
Ea 17,619
—2gH| 6,130,000& «12& 73,560
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27,468
64,092
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212,440
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138,717

4,889

ZOHUEJAI L X BHE 29

UMY
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68,626

4,374

307 212+01™

M

73,000
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4,374
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< 1,119
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= 1,028
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—dlBHE HRE LY
300,000« 1H* 122 3,600
[ 972
Ea 2,628
—2gH| 700,000 * 122 8,400
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[Ea 5,607
ZOoHe! Ml X1 70,606 70,091 515
307 @120l & 70,606 70,091 515
02 QB AANEE R 25,200 25,200 0
OZOHIERM At X3 25,200
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—=0IEsl AFEHI
1,500,000 #32] 4,500
03 LM EHE2SHIEX 45,406 44,891 515
O EH 28| X 12,660
— XM E0HelIgsl =8|
508,300 * 12 6,100
— Al Z0elIgs 23|
413,300 123 4,960
—s0telgsl 2|
133,300& «12& 1,600
OHOHASH ALRE e12H] K& 32,746
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,080
s 2,520
307 lztol & 3,600 3,600 0
= 1,080
= 2,520
10 Al SXAAEEHE2EHI2x 3,600 3,600 0
ONAOISHE 2EH =TT
50,0003 6 A+ 122 3,600
=S 1,080
s 2,520
KSotsdE 2l2id] X 554,568 476,400 78,168
= 217,284
= 138,642
o 138,642
307 @120l & 554,568 476,400 78,168
[ 217,284
= 138,642
o 138,642
10 Al SAAEEHE 22X 554,568 476,400 78,168
OXSotsHIE Al K& 564,568
—XH0tsHlE o1dl X (HEHE)
3,129,000 6H 122 225,288
= 112,644
= 56,322
o 56,322
—XIH0tSHIE Q124H] XIJ(ME=KIAH
2,744,000 x10E~12& 329,280
= 164,640
=S 82,320
s 82,320
KGotsdE 212l It 65,192 13,246 51,946
< 19,558
= 45,634
307 elztol & 65,192 13,246 51,946
= 19,558
= 45,634
10 Al SXAAEEHE 22X 65,192 13,246 51,946
OXSOtSHE SAHAF 21248] F=IHAIE
339,541.62x16H 122 65,192
= 19,558
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= 4,464
o 29,856
301 Eet2 NS 34,320 37,560 A3,240
== 4,464
o 29,856
03 A 2E A4S (XL THH) 34,320 37,560 A3,240
OXISOtSHIE SALAL MIHEHl XI& 34,320
—5 O¢gt 96,0002 x10E «12& 11,520
= 2,304
o 9,216
—5 0l&f 150,000 x6& * 122 10,800
< 2,160
2 8,640
— M= A IS
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KNHOISHE SAHL 245 31,200 26,000 5,200
= 1,120
Ea 30,080
307 el2to| & 31,200 26,000 5,200
= 1,120
o 30,080
10 AlRISXAZEE 22X 31,200 26,000 5,200
OXIGOISHIE SAX SE4Y A
975,000 x 16 *23] 31,200
[ 1,120
T 30,080
NS0tSHlE =yl A& 9,720 9,720
307 elztol & 9.720 9,720
10 Al SXAAEEHE 22X 9,720 9,720
OXNSotSHE ¢ttt X3
1,620,000 *69H 2 9,720
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o 190,313
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40, 1202 x6H 182« 123 51,99
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= 8,400
= 4,200
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s 8,400
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10 Al = XA EHE2FHIE X 16,800 21,600 24,800
OS&g NAOISHE FINR(S+2HE
) 700,000& x20f 2% 12& 16,800
s 8,400
T 4,200
= 4,200
KNS 0otsHlE T2 8H| IR 55,500 45,864 9,636
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307 2I2+01A 55,500 45,864 9,636
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10 Al =S XA EBEER2IHIEX 55,500 45,864 9,636
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T 3,703
= 8,385
XE0otsdlE st& wiHw7dl X 3,915 3,915 0
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[Ea 720
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[ 576
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[Ea 72
o882 100,000 »12& 1,200
[ 960
= 120
Ea 120
202 04| 4,800 4,800 0
[ 3,840
&< 480
Ea 480
01 =LHOHI 4,800 4,800 0
OOtsSEAtdI2el Al =LH0iI
10,0002 x2E*202 * 12 4,800
[ 3,840
S 480
[Ea 480
301 EtE NS 85,250 90,300 A5,050
[ 68,200
= 8,525
[Ea 8,525
01 Al EE A S (2 DEXR) 85,250 88,650 A3,400
OSHAEE T4 U5 MUlA 29
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= 8,525
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= 16,350
=S 4,401
s 4,401
01 Al E2E AL S(FRDEXH) 25,152 36,34 10,202
OJged=s=g X
95,2722 x22F 1228 25,152
= 16,350
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o 4,401
S50 (o2 X 773,39 1,175,726 A402,332
= 502,706
= 135,344
o 135,344
301 EtE NS 773,394 1,175,726 N402,332
= 502,706
= 135,344
[Ea 135,344
01 Al EE A S (2 DEXR) 773,394 1,175,726 A402,332
ORZ230 N& 882,869 x73&* 122 773,3%
= 502,706
= 135,344
= 135,344
IR0t 2= X 988,933 977,294 11,639
= 642,807
= 138,450
= 207,676
301 LEtE NS 988,933 977,2% 11,639
= 642,807
[ 138,450
Ea 207,676
01 AR 2EHSHS(RDNEXRTHE) 988,933 977,2% 11,639
OZR0HO-241) 258 X
763,065% x108H 122 988,933
= 642,807
< 138,450
[Ea 207,676
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50,0002 *318+10& 15,500
& 15,500
SERUWARA AL K& 1,149,400 1,044,488 104,912
= 574,700
& 287,350
= 287,350
307 QIZt01 A 1,149,400 1,044,488 104,912
= 574,700
& 287,350
[ 287,350
10 Al S XA EEHE2IHIE X 1,149,400 1,044,488 104,912
O=22Y L Hol E|DE 02| X2
2,660,648 *36Z* 12 1,149,400
= 574,700
& 287,350
o 287,350
BEUNNIA HRJIME X(BEX - AZ WA XIH) 114,247 103,340 10,907
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307 212+01™ 114,247 103,340 10,907
= 57,123
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10 Al =S XA LB ER2IHIE X 114,247 103,340 10,907
OEx L HAF WA} o1AHH|l XA 114,247
— S8 X AL 1,360,083& x4Z =123 65,284
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& 16,321
= 16,321
—HEEs ME WA
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& 13,410
= 13,410
—EEs dEWA
244 5002 x6F 12 17,604
= 8,802
& 4,401
i 4,401
BSNA H2HH N (SEESUA SE22+H) 39,244 41,304 A2,060
= 19,622
& 9,811
i 9,811
301 LPENZ 39,244 41,304 22,080
= 19,622
= 9,811
= 9,811
01 MBI BEA6Z2(2DEXTHA) 39,244 0 39,244
O=EEFLA SE22sY
121, 12321 %275 =123 39,244
= 19,622
= 9,811
o 9,811
BRI MM K (CHM A X&) 4,300 26,000 A21,700
= 2,150
= 1,075
o 1,075
307 2I2+01 A 4,300 26,000 A21,700
= 2,150
= 1,075
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10 AIEISXAIEHE2ZHIEX 4,300 26,000 A21,700
OUR A X1 358, 3333 1H <128 4,300
= 2,150
& 1,075
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= 168
=S 84
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10 MeISXAEHE2EHIEX 336 553 A217
O0lgloly N XY (E+0S)
112,000 x3&*12] 336
= 168
S 84
o 84
olgloly =&K& 34,522 18,059 16,463
= 17,261
= 8,630
o 8,631
307 @120l & 34,522 18,059 16,463
= 17,261
= 8,630
[Ea 8,631
10 MEISXAIEHE 22X 34,522 18,059 16,463
Ooolelold 28X 34,522
— W= 772,000 * 12/ 67 A 4,632
= 2,316
= 1,158
Ea 1,158
— X223 1,809,000 +23! +5CH 18,090
= 9,045
= 4,522
[Ea 4,523
—=4AY AcXES
983,333 x 1+ 123 11,800
= 5,900
= 2,950
Ea 2,950
OHEloly 2SXIA(SHIANY) 7,446 9,000 A 1,554
== 1,662
T 5,784
307 212t01& 7,446 9,000 A1,554
< 1,662
= 5,784
10 Al SXAEEHE 22X 7,446 9,000 A 1,554
O0lgloly 2 XA (SHIAY) 7,446
—FXNSE 080y 234 A
144, 2503 101 A+ 128 1,731
= 519
o 1,212
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— ) Al
476, 2503 +22|+60H 2 5,715
= 1,143
Ea 4,572
ok NESL ZOPSESY) Fala] 66,630 43,800 22,830
== 19,989
o 46,641
301 22N 66,630 43,800 22,830
[ 19,989
T 46,641
03 AL 2 & A 263 (XL E) 66,630 43,800 22,830
OEFuia XM2H&dl X
115,677 x48EF « 12 66,630
= 19,989
[Ea 46,641
P22 ANRESZ X2 27,840 27,840 0
s 8,352
s 19,488
301 22N = 27,840 27,840 0
[ 8,352
Ea 19,488
02 MBI 2HEHSFHS(HAANS, KLHE) 27,840 27,840 0
ORZRY 12z &
80,0002 x290H « 122 27,840
= 8,352
o 19,488
ool 25201 A& 26,400 21,600 4,800
=S 7,920
s 18,480
307 21201 & 26,400 21,600 4,800
< 7,920
[Ea 18,480
10 AlRIS XA EEE 22X 26,400 21,600 4,800
ongold E&<00 X
366,666 «6IH A+ 123 26,400
= 7,920
= 18,480
Oielold OAMIEH 2l X1 4,800 6,000 1,200
=S 1,440
s 3,360
307 @12t01 & 4,800 6,000 1,200
== 1,440
[Ea 3,360
10 Al2ISTIAIEEE 22X 4,800 6,000 A1,200
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ONeolE oM 2| XI&
100,000& *4H A% 122 4,800
& 1,440
= 3,360
OElold 2&4H| XIH 188,784 188,784 0
& 56,635
= 132,149
307 QIZt01 A 188,784 188,784 0
= 56,635
= 132,149
10 IS SXAIEHE2ZHIER 188,784 188,784 0
OOfRI0IE ZRZHI X
138,000 *1148 =123 188,784
& 56,635
= 132,149
HR2RNFAE WAI 2128 FIHKIA 75,256 61,540 13,716
T 22,577
= 52,679
307 QIZ2t01 A 75,256 61,540 13,716
= 22,577
= 52,679
10 AISISXAIEHE2ZHIER 75,256 61,540 13,716
OFSXAE DR Q2 FIHT
895,904 x7H+12& 75,256
& 22,577
= 52,679
o2lold Z2+Ald] K| (Ex) 37,006 35,280 1,726
T 17,162
= 19,844
301 LB F 37,006 35,280 1,726
= 17,162
= 19,844
2 A BEHHZ(HAAHS, NYHA) 37,006 35,280 1,726
ONglold =2taldl XI& 37,006
—ZOHEHO~2AI) S2tAldl I
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Oatl(nEd 8) X
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307 212+01& 12,900 12,900
NEEEIEET 2,900 12,900
Oz 2 3=H X
537,500 x2H 123 12,900
HH2LZHI(ALEI=XID) 329,846 312,176 17,670
[ 149,193
= 16,512
o 164,141
=] 314,953 295,772 19,181
= 149,193
S 16,512
= 149,248
SlZg 0 2elAL 212H] XI& 57,107 54,020 3,087
= 31,122
S 6,225
[Ea 19,760
101 e124d| 57,107 54,020 3,087
[ 31,122
=S 6.225
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—YEFOtHI 1,590,561 *1E*23] 3,182
—J|gsg 1,497, 1663 x1H+6H 8,983
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47,387 44,568 2,819
27,464
3,433
16,490

i

Mo A

101 e124d| 47,387 44,568 2,819
27,464
3,433
16,490

Moo

03 BRH(RIH L) 22U E > 47,387 44,568 2,819
dERA el2d| 47,387

25
—Jl2= 2,350,000 «1E 122 28,200




SA: ASIZXID
. Y2 A (AL =X
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 22,264
T 2,783
= 3,153
—J|gsg 1,175,000& *1E+63] 7,050
= 3,548
= 444
[ 3,058
— A3 EXI=Y 70,0003 x1H 123 840
BT 1,410,00021+1 2423 2,820
— Qb2 Al 91,8002 124452 459
—ARRtRIERAY
21,5403+ 1B +20A| 2++ 122 5,170
= 1,652
& 206
= 3,312
—= 4| 140,000& 15 *12& 1,680
—uSH| 60,0003 x1H 123 720
&Y 224, 0003 1% +23] 448
JlE2al 14,893 16,404 21,511
2A 1238l 14,893 16,404 21,511
201 B2 AY| 8,784 9,315 AB31
01 At=R2teld| 8,784 9,315 AB31
ORNIIZ2HRFA 8,784
—J|2ERFA 16,0003 *32F + 122 6,144
—S AP Xl 220,000& =128 2,640
202 0idl 1,189 1,989 A800
01 =WOdbI 1,189 1,989 A800
OJ128RF2& ol 1,189,000& 1,189
203 YR F=&IH| 4,920 5,100 A180
M EAM2IHRFA| 4,920 5,100 A180
OF&A 302! 0Olaot 400,000 122 4,800
O&& 3121 =1t 10,000& = 12& 120
MEPES(AISI2X 1) 271,165 293,745 222,580
LHEHH K= 271,165 293,745 222,580
E=0 SEIH =3 271,165 293,745 A22,580
701 JIEte| HISEHEZ 271,165 293,745 A22,580
01 JIEt2 HEES 271,165 293,745 A22,580
Oflz=0 EY3H d=3
271,165,000 271,165




